2x+1

1. The value of > whenx =3 andy = 7 is:
TR . 2
sl ¢ b)> ¢)= d)2
2. The reciprocal of = is:
a) —§- )3 d) -2
3. The first coordinate is positive and Second coordinate is negative in quadrant:
a)l b) II v o) III IV
4. The degree of a polynomial 9x3 — 10x> + 4x + 7x% + 10 is:
(s 5 b) 3 c)2 d)1
5. The simplification of (2 x? y)? is:
a) 2x*y? b) 2x%y ¢) 4x2y?
6. The GCFof 3y? , -5y* is:
a)  3y? (g c) Sy* d) y*
7.  The slope for the horizontal line is:
a) 1 b) undefined d) %
8. The simplification of —| — 8 | is:
R b) 8 ¢) 0 d|-8|

Page 1 0of 3



9. The translate 8 lessthan vy is:
a)8+y b) y*8 c) 8=y

10. The slope of the line containing the point (2, 1) and (-4, 3) is:
b b) —3 c) 6 d)1
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Question 10

Answer o | b a A cl\ v ol A o | A

0 ion 2 : Perf nd simplify the following (3 Marks )
) 8-2:3+49= = F—4 + 9 = !

2) 3a+2b—(4a+7b-8) =
=3a +2b—-Ga—Z2b +3

—-a-4%p—+ 8
i 24x*—4x3+2x%2—-16x
2x =

~ 12X =20 +x—F

Question 3 : (2 Marks)
% convert to scientific notation: |
2340000000000 = ............. —> ..... 234 ¥ \O

% convert to decimal notation:

. A ;@O 0@05
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Questiond: (3 Marks )

Find the x- intercept and y- intercept of the y = x + 5, Then graph the equation

U - ]VJWC’W{_’T(O/ 6)

Question 5: (2 Marks )
1- Multiply : x+7)(x-7)

= X - 4§

2- Solve : x%2—8x=-7

DA =g 4r=0

(x—-7) (A=1) =

X 7 j =
X

——

-

=

(7

%=

—

\

Second axis

....................
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............. il
e b L

.......... R

— First axis

o

)t%#(;d‘“
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